National Testing Agency
Notations :

1.Options shown in green color and with ¥ icon are correct.
2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name :

42 Persian 21st Aug 2024 Shift 2

Subject Name : 42 Persian
Creation Date : 2024-08-21 20:25:57
Duration : 180

Total Marks : 300
Display Marks: Yes
Change Font Color : No
Change Background Color : No
Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Group Number :

Persian and General Paper

1

Group Id : 3421239
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No

Edit Attended Group? : No
Break time : 0
Group Marks : 300

General Paper

Section Id : 34212317
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 34212349
Question Shuffling Allowed : No

Question Id : 3421231233 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question

Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension



The following table shows the total exports (in X Core) of six countries A-F over the five years
from 2019 to 2023. Based on the data in the table, answer the questions that follow.

Country-wise Details of Exports.

Exports (in % core) in the vear
2019]202012021|2022]2023
A 40 |80 |120 [90 |180
B 60 |50 |30 100 |200
C 100 [110 |140 [180 |130
D
E
F

90 |120 |40 [30 |30
120 |100 [110 200 220
48 |80 |120 |[150 |240

Note: Income =Exports —Imports

Sub questions

Question Number : 1 Question Id : 3421231234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the income of all the six countries together in the year 2023 if the total imports of all
these countries together was T 770 cores in the same year.

1.3 250 crores
2.3 320 crores
3.3 560 crores

4. Z 480 crores

Question Number : 2 Question Id : 3421231235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the year 2019, if the ratio of exports to imports for country D and country F are 1:2 and 4:1,
respectively, then what is the total import of countries F and D together in the same year?

1. % 104 crores

[E]

. % 184 crores
3.3 192 crores

4,3 130 crores

Question Number : 3 Question Id : 3421231236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the export of country A in the year 2024 is 20% more than the combined export of country B in
2022 and the export of country E in 2021 together. then what is the income of country A (in
crore) in the year 2024, if its import is T 184 crore for that year?

1. 106
2.44
3.92
4. 68

Question Number : 4 Question Id : 3421231237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ower all the given years, the average export of country E is % more than the average
export of country C.

[g]
k=]

4121
T

Question Number : 5 Question Id : 3421231238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the approximate percentage increase in the export of all the countries together in the year
2022 in comparison to the vear 20207

1. 40.67%

[

. 72.39%
3.38.89%

4. 62.99%

Question Id : 3421231233 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 3421231234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gie gy 2023 H T S 1 DR F6h1 $dl AT 2 770 BRIS ATl 37 G <=0 B
AR 39 au 3931 3/ fha- o

1.2250 BRIS
T30 RS
3.3 560 BRIS
4.7 480 RIS

[B]

Question Number : 2 Question Id : 3421231235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ 99 2019 H ¢RI D 3R G F $1 1A U FGId D1 U HH: 1:2 9 4:1 3, Al ST IY G
F 3R D &I AR 3@ $al 31ATd fdva g2

1.2 104 RIS
LT 184 TS
3.2 192 TRIS

4.3 130 PRIS

[B]

Question Number : 3 Question Id : 3421231236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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184 HRIS M g2

1. 106

2.44
3.92
4.68

Question Number : 4 Question Id : 3421231237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 5 Question Id : 3421231238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gg%ozo D1 g ¥ ay 2022 T i S0 B TedR S Haid B T fdhd= Tiawd 9is

1. 40.67%

(2]

ST239%

3. 38.89%

4. 62.99%

Sub-Section Number : 2
Sub-Section Id : 34212350
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421231239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reena wanted to eat an ice-cream. She took out a phone number online. She repeated the number
over and over again while dialing. After order was delivered she forgot the number. This is an
example of the use of which memory process?

L. Short-term memory
2. Automatic Processing
3. Echoic Memory

4. Iconic Memory

Question Number : 6 Question Id : 3421231239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHT 2P | GHT drgdt AT 39 SR Uh BiH A, el 394 SR did 999 Hid
TR DI IR-6R G| HATGI G 8l S R 8 - AR 39 UTG g1 X811 Ug fdhy Ffd
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1. [dbIfeld Jfd

2. Td: UHHI
3. 9iq afe Wi
4. RS Fid

Question Number : 7 Question Id : 3421231240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha channel —4 with the theme of “Education and Home Science™ are
provided by:

I. CEC, New Delhi

[E]

. IIT, Madras
3. IGNOU. New Delhi

4. IIT Delhi

Question Number : 7 Question Id : 3421231240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421231241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which higher-order knowledge can make the difference between how well and quickly one's
students learn material?

1. Declarative

[B]

. Rote
3. Metacognition

4. Procedural

Question Number : 8 Question Id : 3421231241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 9 Question Id : 3421231242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the interactive whiteboard softwares that allow teachers to create
digital lessons, annotate documents and collaborate with students in real time?

A. Jamboard

B. Camtasia

C. Stormboard
D. Concept board
E. Plotagon

Choose the most appropriate answer from the options given below:

1. B and C only

)

A, CandDonly
3.C,D and E only

4. A, B and E only



Question Number : 9 Question Id : 3421231242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. HadB 3R C
2. Hadd A, C 3R D
3. HddC.D 3R E

4. ®Hadd A, B3IRE

Question Number : 10 Question Id : 3421231243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which type of assessment do students measure their own progress against their previous
performance rather than against external criteria or peers?

1. Peer Assessment

[B]

. Ipsative Assessment
3. Formative Assessment

4. Summative Assessment

Question Number : 10 Question Id : 3421231243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd YR & qedid- # faendf, arer A st a1 gadmel & 9ol 30 gd i &t go-n o

3T T &1 AU 62
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[B]

.

3. FHiUTES geia

4, YhoTHD HAlbA

Question Number : 11 Question Id : 3421231244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



which of the following represents the epistemological orientation of quantitative research?
L. Interpretivism
2. Constructionism
3. Positivism

4. Inductivism

Question Number : 11 Question Id : 3421231244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafafad 3 9 o1 aade Y & IEHEE fufeag of Fefud sar g2

1. HRHATHP

[E]

LG
3. Udédiq

4. HHAdI

Question Number : 12 Question Id : 3421231245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A measure of the consistency of observations of a single situation made by different people refers
to.

1. Construct validity

(B

. Internal validity
3. Split-Half reliability

4. Interrator reliability

Question Number : 12 Question Id : 3421231245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafirs il g1 M faredl uad TRl o Uefull &1 SHIar & 110 &1 37 ¢:
1. TS Gerar

RS ded

3. favedry faya-raar

4. SARUTCD fA4AHTaT (FeReR Rargfafere)

[E]

Question Number : 13 Question Id : 3421231246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The approach in which researchers use the existing data to create groups for comparison is called
1. Operational
2. Ex post facto
3. Experimental
4. Quasi-experimental

Question Number : 13 Question Id : 3421231246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dg IUNTH forgd 2y dai-T & fou Iig (nior gq faedH sfidhs! &1 SudiT d g,
DHedldl g

1. Hiard®
2. BHRR
3. Ui
4. 314 Uraifies

Question Number : 14 Question Id : 3421231247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the nominal variables.

A. Gender

B. Annoyance level

C. Caste

D. Temperature in Kelvin
E. Economic status

Choose the correct answer from the options given below::
1. A, B, CandD only
2. Aand C only
3.B and E only

4. A, B, Cand E only

Question Number : 14 Question Id : 3421231247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. HAAB AR E

4. HIT A, B.C 3R E

Question Number : 15 Question Id : 3421231248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the probabilities corresponding to the standard normal variate “z' lying in the following
intervals, in increasing order.

A —o0<z<+1
B0<z<+3
C.-1<5z<+1

D.z>+]

Choose the eorrect answer from the options given below:

1.D.B,.C.A

(B

.C,B,D.A
3.JAC,B.D

4.B.D,A.C

Question Number : 15 Question Id : 3421231248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFrafaRaa sfavral § Rud aH® A1fE R 2 & Shd WG dsi S 3RIg H9 § afeyd
GHIE 1

A—oo<z<+1

B(0<z<+3

C-1<z<+1

D.z>+1
i fGu T fadedl H Y §8T IR &1 994 BIIT:

1.D,B.C.A

]

.C,B.D,A
3.A,C,B,D

4.B.D,A.C

Question Number : 16 Question Id : 3421231249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In communication, a text is a product of.

. Non-responsiveness

[E]

. Military exercises
3. Social interaction

4. Neurological research

Question Number : 16 Question Id : 3421231249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR ¥ UT& (Y9 &1 ufdhd &
1. TR- UHTeIdl

=T 3y

[E]

3. UG YRR bl
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Question Number : 17 Question Id : 3421231250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea that mass media do not have much power to directly influence the audience led to the
concept of.

. Limited effects

[B]

. Mass effects
3. Individual effects

4. Regulated effects



Question Number : 17 Question Id : 3421231250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

29 faaR A fb 99 (Sae) Hifsar & SIdrTor &l Yefd: YHTidd &3 &1 3fUd Afdd g1
BIdl 8. [y S/auRun &1 3 Ser
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4. fafafid gy

[B]

Question Number : 18 Question Id : 3421231251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are considered hot media?

A. Telephone
B. Television
C. Radio

D. Cinema

E. Photographs

Choose the correct answer from the options given below:

1. A, B, Conly

b2

.B. C.D only
3.C.D.E only

4. A.D,E only

Question Number : 18 Question Id : 3421231251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fgfeiad # ¥ oy gle Hifsar /-1 Srdl g2

- feu e fadh el H ¥ 87 SR &1 94 DI
1.Hdd A, B, C

$ddB.C,D

3.%HddC, D, E

4. HAdA.D.E

(2]

Question Number : 19 Question Id : 3421231252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following social sciences have contributed much to the knowledge of mass
communication?

A. Anthropology
B. Sociology
C. Psychology

D. Social medicine
E. Defence studies

Choose the eorrect answer from the options given below:
1.A, D, E only
2.C.D,E only
3.B.C,Donly

4. A, B.Conly

Question Number : 19 Question Id : 3421231252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafcRad o 9 fas riieis fagHT = 0 SR A6 & [ H 3ifed aneH fear go

A. HH4 3=
B. AN fa3H
c. FAifagE
D. THEINS fafde 2/ fag
E. 381 3y
= feu U fadedl # @ §8T ST &1 994 SIS
|.$dTA.D.E
2. HAdC.D.E
3. HddB,C.D

4. HdAA.B.C

Question Number : 20 Question Id : 3421231253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II

LISTI LISTII
Concept Related medium
A | Attention economy I. |Public speech
B. |Narrow casting II. |Television
C. | Synchronous audience III. |Internet
D. |Peculiar form of presentness | IV. |FM Radio

Choose the eorrect answer from the options given below:

1. A-L, B-II, C-IIL, D-IV

(B

. A-IL B-III. C-IV, D-1
3. A-IIL B-1V, C-1, D-II

4. A-IV, B-I, C-II. D-III



Question Number : 20 Question Id : 3421231253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 3 Ty gt 0@ e s
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1. A-L, B-II, C-IIL, D-IV

(o]

. A-IL B-IIL, C-IV, D-I
3. A-JIIL B-IV, C-1, D-II

4. A-IV, B-I, C-1I. D-III
Question Number : 21 Question Id : 3421231254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

60 persons consume 300 kg of wheat in 40 days. In how many days will 25 persons consume 100
kg of wheat?

1. 28 days

[

. 30 days
3.32 days

4. 35 days

Question Number : 21 Question Id : 3421231254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%ﬁﬁmwﬁﬁfﬁsm Tl g STANT B g 25 ART 100 el Tig fdoeH el § Iugi

1. 28 fer o
ofeatd
3. 32 feArd
4.35feATd

[E]



Question Number : 22 Question Id : 3421231255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the number series 2A11, 4D13, 12G17, 48123,

1. 245N32

[§]

.228L.30
3.240M31

4. 230M29

Question Number : 22 Question Id : 3421231255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7% ¢Raa & 3ATd U Bl ge

2A11,4D13, 12GI17, 48]23,

1. 245N32

b2

.228L30
3.240M31

4. 230M29

Question Number : 23 Question Id : 3421231256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

By selling 35 eggs for Rs 30, a man loses 25%. How many eggs should he sell for Rs 144 to gain

20%?

1.8

n

(]
o
h

3..105

4. 115

Question Number : 23 Question Id : 3421231256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.105

4. 115

Question Number : 24 Question Id : 3421231257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, the word ‘SLIGHT" is coded as ‘UJKEIJR’, then the word
'GROUND will be coded as

1. ITQWPF

(2]

. ISPVOH
3. IQRTOB

4. IPQSPB

Question Number : 24 Question Id : 3421231257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (4T Heeia YINT H, Teg *SLIGHT” I “UIKEIR” Y Hicd a1 SIIdl 3. e s
‘GROUND’ &1 ¢ gl

1. ITQWPF

(2]

. ISPVOH
3. IQRTOB
4. IPQSPB

Question Number : 25 Question Id : 3421231258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 10% 20% and 30% on the marked price of an item are equivalent
to a single discount of

1. 60%

[B]

.50.4%
3. 54.6%

4. 49.6%

Question Number : 25 Question Id : 3421231258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[l 9% & sifchd Jed TR dli U dg 10%, 20% a1 30% & GH®E Udhd a2l gHTl:

1. 60%

(o]

. 50.4%
3.54.6%

4. 49.6%

Question Number : 26 Question Id : 3421231259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the fallacy committed in the following statement: “Water is nonpoisnous compound.
Therefore, its components oxygen and hydrogen are nonpoisnous”.

1. Fallacy of Division
2. Equivocation
3. Slippery Slope

4. Hasty Generalization

Question Number : 26 Question Id : 3421231259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421231260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement *“No monkeys are feline.” is given as true then which of the following statements
can be interferred to be true?

1. Some monkeys are felines

[B]

. Some felines are monkeys
3. All felines are monkeys

4. Some monkeys are not feline

Question Number : 27 Question Id : 3421231260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afe S dis Hi dex fasTadsh uxy 98! & & Ot A iran § of Fafafad J € feu suE
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1. P a3 [TSTad=h U g B
2. $F fAeaa T 4 gid B
3. QUi faSTadeil gy deR gid 31
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Question Number : 28 Question Id : 3421231261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent.

A. No monkeys are felines.

B. Some monkeys are felines.
C. Some felines are monkeys.
D. Some monkeys are not feline.

Choose the correct answer from the options given below:

l. A and D only

t-2

.Band C only
3. B and D only

4.B, C and D only

Question Number : 28 Question Id : 3421231261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad o 9 ®H-U $2 diidd =P I T0ded §
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Question Number : 29 Question Id : 3421231262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following two statements cannot both be true but can both be false?

A. All Monkeys are apes.

B. Some monkeys are apes.

C. Some monkeys are not apes.
D. No monkeys are apes.

Choose the correct answer from the options given below:

1. A and D only

b2

.Aand C only
3.B and C only

4. B and D only

Question Number : 29 Question Id : 3421231262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ®dd A 3R D

2. Had A 3R C

3. $HddB 3R C

4. HIAB 3R D

Question Number : 30 Question Id : 3421231263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because the major term is all pervasive and the
middle term is all-inclusive?

1. The sky-lotus is fragrant because it is a lotus.
2. Socrates is immortal because he died long ago.
3. Sound is eternal because it is audible.

4. Everything is nameable because it is knowable.

Question Number : 30 Question Id : 3421231263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421231264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the third
generation electronic computer?

1. Transistor based
2. Integrated Current (IC) based
3. Vacuum tube based

4. Macroprocessor based

Question Number : 31 Question Id : 3421231264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421231265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following would create the most stable computer network with the fastest data
transmission?

1. Use a wireless access point to connect devices
2. Connect devices wirelessly using mobile phone

3. Use coaxial cables to connect devices in sequence

4. Connect devices to a switch using optic fibre cables

Question Number : 32 Question Id : 3421231265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421231266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the sequence of words A-E that correctly fills the blanks in the following paragraph:

In the context of human-computer interaction, a 1s an interface built around visual things
and Windows-11 is an example of an with these visual things. is region of
the screen used to display information. is a small picture that is used to represent
folders, software etc., whereas is a list of options that the user can select from.

A.0S

B. Menu
C. Window
D. Icon

E. GUI

Choose the correct answer from the options given below:
1.E.A,C,B,D
2. AED,CB
3.3E,A,C,D.B

4.B,C,AE.D

Question Number : 33 Question Id : 3421231266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 34 Question Id : 3421231267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to the open source software, which of the following statements are correct?

A. Tt is a software that is distributed with its source code.
B. It allows anyone to modify the software to best fit their needs.
C. It is a software that anyone can use on a trial basis before paying for it.
D. Linux is a example of open source software.
Choose the correct answer from the options given below:
l. A, B and D only
2. A B.CandD only
3.A,CandDonly

4.B and C only

Question Number : 34 Question Id : 3421231267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.hdd A, B3R D
2. ®dd A, B, C 3R D
3.$dd A, C 3R D
4. PadB 3R C

Question Number : 35 Question Id : 3421231268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-II

LISTI LISTII
(Malware types) (Characteristics)
Trapdoor I. |Produces varyving but operationally equivalent copies of itself
Time Bomb II. |Code that allows unauthorized quick access at a later time.

Polymorphic Virus | IIL. [Instructions interpreted rather than executed

ola|w|»

Macro virus IV. | Triggers action when specified time occurs

Choose the correct answer from the options given below:
1. A-III, B-IV. C-I, D-II
2. A-IL B-IV, C-1, D-ITI
3. A-L B-II, C-IIL, D-IV

4. A-II, B-1, C-IV, D-III

Question Number : 35 Question Id : 3421231268 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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l. A-IIL, B-IV, C-I, D-II
2. A-I1, B-1IV, C-I, D-III
3. A-L B-II, C-IIL D-IV

4. A-IL, B-I, C-1V, D-III

Question Number : 36 Question Id : 3421231269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Green House Gases (GHGs) was considered during the second
compliance period of Kyoto protocol at Doha?

1. Sulphur Hexafluoride (SFg)

]

. Hydrofluoro Carbons (HFCs)

3. Nitrogen Trifluoride (NF3)

4. Perfluorocarbons (PFCs)

Question Number : 36 Question Id : 3421231269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421231270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

: ALk LISTII
(Particulate Matter Eplanation)
Terms) P

Particles formed by imncomplete combination with mixture of carbon

A | Aerosol L. s ?
volatiles

B. |Nano Particles II. |Particles with size less then 2.5 micro meter

C. | Smoke III. | Particles with size less than 0.2 micrometer

D. |Fine particles IV. | Any solid or liquid particle suspended in air

Choose the eorrect answer from the options given below:
L. A-IV, B-IIL, C-II, D-I
2. A-IV. B-IIL, C-1, D-II
3. A-L B-IL C-IV, D-ITI
4. A-I. B-II, C-III, D-IV

Question Number : 37 Question Id : 3421231270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-TV, B-III. C-II, D-I

olalw|r

2. A-IV, B-IIL C-1, D-II
3. AL B-IL C-IV, D-III

4. A-I, B-II, C-III, D-IV

Question Number : 38 Question Id : 3421231271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of negative feed back in the context of climate change?

1. Oceans remove carbon dioxide from the air
2. Warming increases water vapour in air
3. Snow cover loss and iceshelf melt reduce sun's reflection

4. Global temperature increases due to global warming

Question Number : 38 Question Id : 3421231271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 39 Question Id : 3421231272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Burning of solid waste, such as cans, batteries, plastic etc. generate

A. Microplastics

B. Chlorofluorocarbons (CFCs)

C. Dioxins

D. Polychlorinated biphenyls (PCBs)
E. Halons

Choose the correct answer from the options given below:

1. A, B, CandD only

[§]

.A, Cand D only
3.B,D and E only

4.B.C and E only

Question Number : 39 Question Id : 3421231272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. BAd A, C 3R D
3. BAd B, D 3R E

4. HAdA B, C 3R E

Question Number : 40 Question Id : 3421231273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Nature of substances) (Effect)
A | Allergens [. |Substances that cause cancer
B. | Carcinogens II. |Substances that can hamper embrvonic growth
C. |Mutagens III. | Substances that activate the immune system
D. | Teratogens IV. |Substances that can damage or alter genetic material

Choose the eorrect answer from the options given below:

1. A-IV, B-I, C-I1, D-III

(2]

. A-IV, B-II, C-1, D-TII
3. AL B-1, C-II, D-1IV

4. A-III, B-1, C-IV, D-II

Question Number : 40 Question Id : 3421231273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o]

. A-IV, B-II, C-1, D-TII
3. AL B-1, C-II, D-1IV

4. A-IIL B-1, C-IV, D-II

Question Number : 41 Question Id : 3421231274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A British official of the East India company who was interested in higher learning in India was.

1. Francis Gladwin

-]

2. William Ward

3. William Adam

4, William Jones

Question Number : 41 Question Id : 3421231274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421231275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education policy, 2020 supported the idea of:

1. Science only education

[E]

. Fragmented research
3. Rigorous specialization

4. Segregating humanities and science

Question Number : 42 Question Id : 3421231275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421231276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The components of quality education identified in the national education policy of 2020 are:
A. Political affiliation
B. Curriculum
C. Pedagogy
D. Continuous assessment
E. Higher fee
Choose the correct answer from the options given below:
1. A, Bonly
2.B.C.Donly
3.C,D.E only
4.A.C,Eonly

Question Number : 43 Question Id : 3421231276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421231277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following norms are prescribed for foreign universities to set up their campuses in
India.

A. Foreign universities must invest in the Indian manufacturing industry.

B. They should have secured a position within the top 500 in global ranking.

C. They should have secured a position within the top 500 in global ranking in the subject-wise
category.

D. They should employ only Indians for teaching and non-teaching.

E. They should possess outstanding expertise in a specific area.

Choose the eorrect answer from the options given below:
1. A, Bonly
2.B.C.Donly
3.C,D.E only

4.B.C.E only

Question Number : 44 Question Id : 3421231277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421231278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-II

LISTI LIST IT
Five vear plan Agency set up
First five year plan I. | Autonomous colleges

Second five year plan| II. | University Grants Commission

Third five year plan | IIL | Specialized departments of scientific study

olo|w|»

Fifth five vear plan IV. | Two rural mstitutes in Wardha and Mysore

Choose the correct answer from the options given below:

1. A-L, B-II, C-IIL, D-IV

[B]

. A-IL B-III. C-IV, D-1

3. A-IIL B-1V, C-1, D-II

4. A-IV,B-I, C-II. D-III

Question Number : 45 Question Id : 3421231278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-IL, B-III, C-IV, D-1

3. A-JIIL B-IV, C-1, D-II

4. A-IV, B-I, C-II. D-III

Sub-Section Number : 3
Sub-Section Id : 34212351
Question Shuffling Allowed : No

Question Id : 3421231279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

A careful study of the Rig-Veda shows that even in the early times, karma and jiana were
recognized as two separate factors in the spiritual progress of man. Karma is connected with the
world immediately above the one in which we live; and jiiana is connected with the world further
above that. Agni and Indra are connected with sacrifices, and the gods of the highest world are
connected with prayer, and jiana. Since the Vedic Samhitas are intimately connected with
sacrifices, it is but natural that the gods connected with sacrifices, the gods of the two lower
regions, should be more prominent in the Rig-Veda. It is only through jiana that the soul can get
into a state of everlasting bliss. This jAana is esoteric knowledge. At the time of the Rig-Veda, the
rsis had evolved a highly complicated system of philosophy and that the value of jiiana as a
means to final release from the world of physical bondage had been well established. The Yajur-
Veda and the Sama-Veda are of little importance to a student of ancient Indian culture. One notes
the same optimistic tone in the Yajur-Veda, regarding man’s life in this world and his future in the
other world. Material plenty is also quite noticeable. Gold and ornaments are spoken of freely as
covetable objects. Cows are mentioned in thousands. So far as culture is concerned. so far as
religion and philosophy go, there is no difference between the Rig-Veda and the other two Vedas

Sub questions

Question Number : 46 Question Id : 3421231280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Rig-veda, Agni is connected with.
1. The world immediately above the one in which we live in
2. Sacrifices
3. Souls with everlasting bliss

4. The gods of Wisdom

Question Number : 47 Question Id : 3421231281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Rig-Veda, Jhana refers to.
L. Primitive culture
2. Predominance of sacrifice
3. Everlasting bliss

4. The gods of the highest world that are connected with sacrifices

Question Number : 48 Question Id : 3421231282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The optimistic tone regarding man’s life in this world and his/ her future in the other world exists
in:

1. The Yajur-Veda

[E]

. The Sama-Veda
3. The Atharva Veda

4. Rig-Veda

Question Number : 49 Question Id : 3421231283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At the time of Rig Veda , the rsis valued jiana as means.
1. To find signs of a gloomier side in man’s life
2. To sacrifice and dissociate
3. To find release from the world of physical bondage

4. To rule and regulate

Question Number : 50 Question Id : 3421231284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the original source of cultural life of the Hindus?
1. Ttihasas
2. Puranas
3. Manu

4. Sacred Vedas

Question Id : 3421231279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421231280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421231281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421231282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421231283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421231284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421231285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l b was written

o d Sl (1)
Cwly 4 o (2)
abaVLi (3)

Yaombsl (4

Question Number : 51 Question Id : 3421231285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sl L= was written

o 4 Sl (1)
Cwly 4 o (2)
asbaVil (3)

Yoaombsl (4

Question Number : 52 Question Id : 3421231286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OL L) eSLb, 8" Is written in

s (D)
ol ot (2)
ol (3)

e (4

Question Number : 52 Question Id : 3421231286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OL L) eSub 8 Is written in

s (D)
okl ot (2)
ol (3)

= (4

Question Number : 53 Question Id : 3421231287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is not the part of L.,

o (1)

Spss  (2)
Shauy  (3)

JL.L_»..U} (4)

Question Number : 53 Question Id : 3421231287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is not the part of L.,

s (1)

Sy (2)
Sheus (3)

_’:1..1.3_..133 (4)

Question Number : 54 Question Id : 3421231288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The capital of Iran during suw 55l il v S~ Was

e (D)
ol (2)
e (3)

N N C)

Question Number : 54 Question Id : 3421231288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The capital of Iran during i ssl ils Cw K> Was

e (D)
Oldan (2)
e (3)

B O

Question Number : 55 Question Id : 3421231289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which reign iz & 2 Jeadi 5| Was jailed

o2l s (D)
S5 (2)
ssancpnrs (3

oli ol ¢ (4)

Question Number : 55 Question Id : 3421231289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which reign iu & 25 Jleadl I Was jailed

w2l s (D)
$5F o (2)
sy (3)

e (4)

Question Number : 56 Question Id : 3421231290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dJlis 4> Was written in

LSJLWLA ;_)_,.5 (1)
ol o, (2)
S by55  (3)

7ok 890 (4)

Question Number : 56 Question Id : 3421231290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jlas Hle> Was written in

Sl 593 (1)
Sl 5,95 (2)
(S 382 533 (3

(s 590 (4)

Question Number : 57 Question Id : 3421231291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S5 Ls Is well known for

SO bl (D)
drpss (2
=0l (3)
obeiads  (4)

Question Number : 57 Question Id : 3421231291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S5 4s Is well known for

S bl (D)
dJrpsb (2
a0l  (3)
abedils  (4)

Question Number : 58 Question Id : 3421231292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S350 S5m0 550 CONtAINS
Sl S 9 S (1)
Coslpiws (2
S olp Al 5 S (3)
Caulp e (D

Question Number : 58 Question Id : 3421231292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S350 S5 s 550 CONtAINS
oyl a9 s (1)
Colpiws (2
S a5 (3
Cwolp e (4)

Question Number : 59 Question Id : 3421231293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to i ew 43,2 U Who was the secretary of .z -, s

s,37 (1)

Sl (2)
R I ).

S (4

Question Number : 59 Question Id : 3421231293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to i ew 43,2 U Who was the secretary of .z -, s

s,37 (1)

S5 (2
Glioe doml e (3)

S (4

Question Number : 60 Question Id : 3421231294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b s3> Composed the g saie ol ) st aslals

In Persian poetry in pursuance of the order of
vy (D)
Jerol o dal (2)
Jomosl sl (3)
ol op 2 (4)

Question Number : 60 Question Id : 3421231294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



b s3> Composed the g saie ol ) st aslals

In Persian poetry in pursuance of the order of
vy (D)
Jerol o dal (2)
Jomosl sl (3)
ol op 2 (4)

Question Number : 61 Question Id : 3421231295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

asllic ¢ 420 Was composed by

L;’JJ (1)
St (2
Jee (3)

sAazse (4

Question Number : 61 Question Id : 3421231295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

allic ¢ 20 Was composed by

o (D)
S (2
Sbe (3)

sAazrse (4

Question Number : 62 Question Id : 3421231296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s£3L allz> Belongs to

34 5,93 (1)
sab 550 (2)
Sbkleses  (3)
ssFos (4

Question Number : 62 Question Id : 3421231296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s&3b allz> Belongs to

e sy (D)
sl (2)
Sblw 5593 (3)
ssEo (4

Question Number : 63 Question Id : 3421231297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first ol Used by iy ,s SB= was

S (D)
S (2
sl (3)
S (4)

Question Number : 63 Question Id : 3421231297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The first L Used by i, 5 S6l= was

S (D)
Jus (2
sl (3)
s (4)

Question Number : 64 Question Id : 3421231298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S 25, Hails from

oS3l (D)
sbulisl  (2)
Obwsla  (3)
oSt (4)

Question Number : 64 Question Id : 3421231298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S >3, Hails from

oSl (1)
skl (2)
Sbwsia  (3)
oSt (4)

Question Number : 65 Question Id : 3421231299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the contemporary of g2
L= (D)

Jo (2)

9= gt (3)

htes  (4)

Question Number : 65 Question Id : 3421231299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the contemporary of ¢ >v
L= (D)
= (2

9 = sl (3)

Shtes  (4)

Question Number : 66 Question Id : 3421231300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

El A Of Ji Isa
JEolss (D)
Slel, dgee (2)
L (3)
ssz= (B

Question Number : 66 Question Id : 3421231300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



pu s Of Jizlsa

JEolgs (1)
Sl degare (2
Lexi o (3)

g5z (B

Question Number : 67 Question Id : 3421231301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o n IsT 7 5 was written by

o e s e (D)

Nyse (2

35S g ey G el (3)
0158 3 goses (4)

Question Number : 67 Question Id : 3421231301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o2 o IsT 5 was written by

ol o i e (D)

N (2)

g g ety G el (3)
O 3 gamue (4)

Question Number : 68 Question Id : 3421231302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



duob)%éwjﬂjbjsda

7S 3 et St | g Sl s (prad
Name of the poet of above couplet

g( =4 (1)

St (2)
B (3)
st (4)

Question Number : 68 Question Id : 3421231302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dboa)%é}m;dbjada

7S 3 et Sz | o Sl s (pead
Name of the poet of above couplet

s (D)

S (2)
B (3)
s (B

Question Number : 69 Question Id : 3421231303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S Jlgs Is related to

sas p i (1)
Solal dins el (2)
Al gl e ol (3)

Sbe pblt (4

Question Number : 69 Question Id : 3421231303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S lgs Is related to

sles pdll 3 (1)
Solail s ol (2)
2 ol das gl (3)

Sbe Al (4

Question Number : 70 Question Id : 3421231304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the contemporary of (¢l Lil> 4>l =
SSae (D)
Srielesr (2
(S foms D gaes 3
Sl o sdam (4

Question Number : 70 Question Id : 3421231304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the contemporary of | & Lbl> 4l =
SEae (D)
Sripler (2
S 3g0ma (3)
Sil b gae  (8)

Question Number : 71 Question Id : 3421231305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sl a1 3Ms| was written by

Sl Lely S (1)
Sl P (2)
Ll (3)

SSas (4

Question Number : 71 Question Id : 3421231305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<2 Yl was written by

Sl ey (1)
Sl e (2
Ll e (3)

SSLhas (4

Question Number : 72 Question Id : 3421231306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who is not» 5. Of Lils
glmiols (1)
spaaols (2)
lé = (3)
e pleoli (4)

Question Number : 72 Question Id : 3421231306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is NOt - sutes Of Lsls
glesols (1)
syaads (2)
g = (3)
Gsto pleols  (4)

Question Number : 73 Question Id : 3421231307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl # 2l 7w L Migrated to Delhi during the reign of

Sol il (1)
sof ol oes (2
W PR |

Sl ()

Question Number : 73 Question Id : 3421231307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sl & 2l =l w 4 Migrated to Delhi during the reign of

Sl o U s (1)
S5 &:“‘” ol (2)
3 samea ‘_',;_'.UI_,.aU (3)

A (@

Question Number : 74 Question Id : 3421231308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S5 565 Belongs to

u_bu.jjtﬁ 895 (1)
6:.».1:'» ;_)_9.': (2)
(S35 33 (3

Jl=Bs, 9 (4)

Question Number : 74 Question Id : 3421231308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S5 6 seb Belongs to
pladale 640 (1)

s 6,93 (2)
S58e 5,93 (3)

Jl-ls, o (4)

Question Number : 75 Question Id : 3421231309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o=l 22 Comprised of

s (D)
dor cia (2)
dr i (3)

-y (4)

Question Number : 75 Question Id : 3421231309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol 25 Comprised of

A s (D)
A cza (2)
drcin (3)

Ay (4)

Question Number : 76 Question Id : 3421231310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol (208 1s the work of

Jb ol el (D)
old glin unld dame (2)
srodlls  (3)
dox| plll ol (4)

Question Number : 76 Question Id : 3421231310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



!yl 52 |s the work of

o Ol onl ! (1)
ol s o wlB oo (2)
Srodlbe  (3)
doxl plll ol (4)

Question Number : 77 Question Id : 3421231311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books isnota . s
ST (D)
N PGP (2)
Seolst (3)
S e (4)

Question Number : 77 Question Id : 3421231311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books isnota . &
oS5 T (1)
o8l i (2)
sheolst (3)
S e (4)

Question Number : 78 Question Id : 3421231312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the followingis not written by _ji

s )\er (1)
2Hx (2
sz (3)

D30 4 (4)

Question Number : 78 Question Id : 3421231312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the followingis not written by _ji

2 )l (1)
»Ex (2
sy (3)

SRS (4

Question Number : 79 Question Id : 3421231313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following book is related to slxs &, 45

oAk e (1)
EolAl sz (2)
A5 2 7t (3)

e e (4)

Question Number : 79 Question Id : 3421231313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following book is related to sl 5,5

A e (D)
el sz (2)
Pl st (3)

o s (@)

Question Number : 80 Question Id : 3421231314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books written by J\-
el adicogy N ga il (2)
e 8L gtam Sl (3)

Se sl 5 w9 el pd i (4)

Question Number : 80 Question Id : 3421231314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books written by J\-
el pdcp sy WY il (2)
L (aw Sl (3)

S sl (owg3 b el 2 ais (4)

Question Number : 81 Question Id : 3421231315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s Ul a. Was associated with the court of

S pdlle (D)

S ol s (2)

wrld el (3)

Slkls 45, (4)

Question Number : 81 Question Id : 3421231315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s Ul Was associated with the court of

Sk pllSle (D)
e L3 (2)

wrld ol el (3)

alalw 45 (4)

Question Number : 82 Question Id : 3421231316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is not part of ¢,k % aw

ooy (D
=2l S (2)
J= ol (3)

el S (4)

Question Number : 82 Question Id : 3421231316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is not part of ¢, b 5 4w

oo (D)
28 (D)

J ol (3)

2 E S (4)

Question Number : 83 Question Id : 3421231317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl oL, Of culus 515, Deals with
@ (1)
SE (2
slazl (3)

-y (4)

Question Number : 83 Question Id : 3421231317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ool sk, Of culus Lo, Deals with
w (1)
SE (2
sl (3)

e liily (4)

Question Number : 84 Question Id : 3421231318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s> Was the pen name of

e e (D)
sleieole  (2)
s ;ST le (3)
rzs (4

Question Number : 84 Question Id : 3421231318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

> Was the pen name of

oo dee (1)
sl (2
s ST e (3)
rzs (4

Question Number : 85 Question Id : 3421231319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o3lj,liw o sl is related to

el 31 g3 b bisl (D)

sl NG 51 s oy 6 ol (2)
Olailadl 53 gyl o] (3)
Cobypiab)gs s b list  (4)

Question Number : 85 Question Id : 3421231319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o3lj, i o sl is related to

el 51 S s lesl (D)

PO U, -+ RV R P (2
Olaslzl 53 gyl S| (3)
Cub g a8 95 (s Slool (4)

Question Number : 86 Question Id : 3421231320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e dexes IS Well known as

s Sy (1)
Ols 4z (2)
o ot (3)

S cwlw (4)

Question Number : 86 Question Id : 3421231320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ezes IS Well known as

s Sy (1)
Ol 4l A (2)
o8 b (3)

P PRSI (4)

Question Number : 87 Question Id : 3421231321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



150 4 25 Is @ poet of

Cby e DBIE,9s (1)
by e DI A b9y (2)
‘_s_g)‘._.,.d ;_.;‘)LE_H 5595 (3)

L ISP (4)

Question Number : 87 Question Id : 3421231321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 0 il i IS @ poet of

Cub g i DN 35 95 (1)
Sy ie DB Ay b9y (2)
el Ml a5 (3)
eSSk (M

Question Number : 88 Question Id : 3421231322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5w a5 555 e 0Ll
oS s Olmessls 8 o)l & g
The above couplet composed by
Shedla (1)
Ssjee e (2)
sprEdel (3)
25 ool pad (4)

Question Number : 88 Question Id : 3421231322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S S KT 5 55 5 n 0Ll
S e Olren)ly S osbps §
The above couplet composed by
10 Al i (1)
Sl g o Apa (2)
spp =l (3)
o8 Ol @)

Question Number : 89 Question Id : 3421231323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o o8 DS T 5L S (S Gy
By N OldS (6555 355 OVt A
dads 0L HYL el Cateo
sbyle Jabs (D)
Aadtol,  (2)

=5 (3
Jis e (D)

Question Number : 89 Question Id : 3421231323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o5 o8 OLSG T 5L S (8 sy
253 o OlS (5355 353 O 1 &S
Lol Ol H YL el Cais

sbyle Jabs (D)

Aol . (2)

b (3)

Jbs e (4)

Question Number : 90 Question Id : 3421231324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the translator of ol ;1 &Ll b of 543 esl3 s, In urdu

e S 56 (1)
solail b (2)
Coudy ol 5l e (3)

S iy S5 (8)

Question Number : 90 Question Id : 3421231324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the translator of ol ! ol &b of 52 esl3 L, In urdu

e S 56 (1)
el (2)

Sy gl et (3)
S iy S (4)

Question Number : 91 Question Id : 3421231325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S Sa gl A

P 5B

&l s Ll .C

S5l (e . D

ssb 935 B

Choose the correct answer from the options given below:

(1) AENDCSB
(2) B,C,D,E,A
(3) CB,EAD
(4) D,E,AB,C

Question Number : 91 Question Id : 3421231325 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S Sa gl A

P 5B

&l s Ll .C

S5l (e . D

ssb 935 B

Choose the correct answer from the options given below:

(1) AENDCSB
(2) B,C,D,E,A
(3) CB,EAD
(4) D,E,AB,C

Question Number : 92 Question Id : 3421231326 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
s sb a3 p— walala A
S IS — aalaliials B
5l Oledw—asl 31 5.C
b 555 gl — 4l 5 5T.D

Sk S el —al Jus .E

Choose the correct answer from the options given below:

(1) B,C,D,E,A
(2) ED,AC,B
(3) A,B,C,D,E
(4) D,AEC,B

Question Number : 92 Question Id : 3421231326 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
s sb a3 p— walala A
S IS — aalaliials B
5l Oledw—asl 31 5.C
b 555 gl — 4l 5 5T.D

Sk S el —al Jus .E

Choose the correct answer from the options given below:

(1) B,C,D,E,A
(2) ED,AC,B
(3) A,B,C,D,E
(4) D,AEC,B

Question Number : 93 Question Id : 3421231327 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange in chronological order
4al U.u}g\é.A

4l Cwlw .B

slks dsbus .C

23§70

aal sl B

Choose the correct answer from the options given below:

(1) B,C,D,E,A
(2) A,B,C,D,E
(3) D,A,B,D,E
(4) E,D,C,B,A

Question Number : 93 Question Id : 3421231327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange in chronological order
4al U.u}g\é.A

4l Cwlw .B

slks dsbus .C

23§70

aal sl B

Choose the correct answer from the options given below:

(1) B,C,D,E,A
(2) A,B,C,D,E
(3) D,A,B,D,E
(4) E,D,C,B,A

Question Number : 94 Question Id : 3421231328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S s A

By 53,3.B

oeisl all> .C

35 &0

S i gl oS> .E

Choose the correct answer from the options given below:

(1) ECB,AD
(2) A,C,B,D,E
(3) C,B,AE,D
(4) E,D,C,B,A

Question Number : 94 Question Id : 3421231328 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
S s A

By 53,3.B

oeisl all> .C

35 &0

S i gl oS> .E

Choose the correct answer from the options given below:

(1) ECB,AD
(2) A,C,B,D,E
(3) C,B,AE,D
(4) E,D,C,B,A

Question Number : 95 Question Id : 3421231329 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



Arrange the sequence in chronological order
Conlbs 28 e 3137 4 Oyl as LA
S8R gy 33 2, ). B
s5pllsas asytly.C
olib S8 Bl s 6.D
LS 0 s O 5 g B

Choose the correct answer from the options given below:

(1) C,D,E,B,A
(2) B,A,CE,D
(3) AJE,B,D,C
(4) B,C,AE,D

Question Number : 95 Question Id : 3421231329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sequence in chronological order
Conlbs 28 e 3137 4 Oyl as LA
S8R gy 33 2, ). B
s5pllsas asytly.C
olib S8 Bl s 6.D
LS 0 s O 5 g B

Choose the correct answer from the options given below:

(1) C,D,E,B,A
(2) B,A,CE,D
(3) AJE,B,D,C
(4) B,C,AE,D

Question Number : 96 Question Id : 3421231330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

S Salle Slaiy A

wb bb.B

asl ,S1.C

&Nl 55.D

& el E

Choose the correct answer from the options given below:

(1) A,CB,D,E
(2) E,D,B,C,A
(3) A,B,C,D,E

(4) B,CDAE

Question Number : 96 Question Id : 3421231330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

S Salle Slaiy A

wb bb.B

asl ,S1.C

&Nl 55.D

& el E

Choose the correct answer from the options given below:

(1) A,CB,D,E
(2) E,D,B,C,A
(3) A,B,C,D,E

(4) B,CDAE

Question Number : 97 Question Id : 3421231331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

S el A
3Ll 255 S .B

:,,151;;.@.(:

Juisl .0
Q;_,,awls;_'u JE

Choose the correct answer from the options given below:

(1) AED,CB
(2) B,C,D,E,A
(3) C,B,E,AD
(4) D,E,AB,C

Question Number : 97 Question Id : 3421231331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

S el A
3Ll 255 S .B

:,,151;;.@.(:

Juisl .0
Q;_,,awls;_'u JE

Choose the correct answer from the options given below:

(1) AED,CB
(2) B,C,D,E,A
(3) C,B,E,AD
(4) D,E,AB,C

Question Number : 98 Question Id : 3421231332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Al e A
&b ,t.B
e Jos .C
LSl 5,6.0
ol A o E
Choose the correct answer from the options given below:

(1
(
(3
(4

A,B,C,D,E

N

)

) B,D,E,C,A
) D,B,AE,C
) C,AB,D,E

Question Number : 98 Question Id : 3421231332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Al e A
&b ,t.B
e Jos .C
LSl 5,6.0
ol A o E
Choose the correct answer from the options given below:

(1
(
(3
(4

A,B,C,D,E

N

)

) B,D,E,C,A
) D,B,AE,C
) C,AB,D,E

Question Number : 99 Question Id : 3421231333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Jus OISG LA
sl B

bl . C
slsall Wi, D
Comall S E

Choose the correct answer from the options given below:

(1) AEB,CD
(2) ED,C,BA
(3) D,E,AB,C
(4) C,D,AE,B

Question Number : 99 Question Id : 3421231333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Jus OISG LA
sl B

bl . C
slsall Wi, D
Comall S E

Choose the correct answer from the options given below:

(1) AEB,CD
(2) ED,C,BA
(3) D,E,AB,C
(4) C,D,AE,B

Question Number : 100 Question Id : 3421231334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
o FA
alals . B
Ol e .C
&= el D
2~ E

Choose the correct answer from the options given below:

(1) B,C,AD,E
(2) AB,EC,D
(3) C,D,AB,E
(4) A,B,C,D,E

Question Number : 100 Question Id : 3421231334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
o FA
alals . B
Ol e .C
&= el D
2~ E

Choose the correct answer from the options given below:

(1) B,C,AD,E
(2) AB,EC,D
(3) C,D,AB,E
(4) A,B,C,D,E

Question Number : 101 Question Id : 3421231335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

s A A

Ji.B

[N o
Je.D

JUl.E

Choose the correct answer from the options given below:

(1) A,B,C,D,E
(2) C,A,B,D,E
(3) E,D,B,C,A
(4) D,C,AE,B

Question Number : 101 Question Id : 3421231335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

s A A

Ji.B

[N o
Je.D

JUl.E

Choose the correct answer from the options given below:

(1) A,B,C,D,E
(2) C,A,B,D,E
(3) E,D,B,C,A
(4) D,C,AE,B

Question Number : 102 Question Id : 3421231336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Qijlg;.ﬁw.A

b eShall ol . C

k. D

Ghiase S das=l . E

Choose the correct answer from the options given below:

(1) E,D,C,AB

)

(2) B,AEC,D
(3) D,E,CAB
(4) AC,B,ED

Question Number : 102 Question Id : 3421231336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

Qijlg;.ﬁw.A

b eShall ol . C

k. D

Ghiase S das=l . E

Choose the correct answer from the options given below:

(1) E,D,C,AB

)

(2) B,AEC,D
(3) D,E,CAB
(4) AC,B,ED

Question Number : 103 Question Id : 3421231337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sequence
#l A
b Sl 5B
AN
o el 228D
sl B

Choose the correct answer from the options given below:

(1) E,D,C,B,A
(2) A,CB,E,D
(3) D,E,C,B,A
(4) E,D,B,A,C

Question Number : 103 Question Id : 3421231337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sequence
#l A
b Sl 5B
AN
o el 228D
sl B

Choose the correct answer from the options given below:

(1) E,D,C,B,A
(2) A,CB,E,D
(3) D,E,C,B,A
(4) E,D,B,A,C

Question Number : 104 Question Id : 3421231338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sequence

d'”)}.‘,'A

Len .E

Choose the correct answer from the options given below:

1) A,C,B,D,E

3) CB,AD,E

(

(2) B,AEC,D
(3)

(4) EC,BAD

Question Number : 104 Question Id : 3421231338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sequence

451‘3}:?.A

Len .E

Choose the correct answer from the options given below:

(1) ACB,D,E
(2) B,AEC,D
(3) C,B,AD,E
(4) EC,B,AD

Question Number : 105 Question Id : 3421231339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
SlBols sl ol A
ols oS .B
S5 2550 .C
S 3ine Janamsl oli. D

nglﬂaL;LéJ.E

Choose the correct answer from the options given below:

(1) A,B,C,D,E
(2) E,D,CA,B
(3) B,D,C,AE
(4) C,B,D,AE

Question Number : 105 Question Id : 3421231339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
SlBols sl ol A
ols oS .B
S5 2550 .C
S 3ine Janamsl oli. D

nglﬂaL;LéJ.E

Choose the correct answer from the options given below:

(1) A,B,C,D,E
(2) E,D,CA,B
(3) B,D,C,AE
(4) C,B,D,AE

Question Number : 106 Question Id : 3421231340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9% 8 doliald
ol 150 Cnat 4alals latl slass A
ol O g5 w35 508 515 B
.‘:ﬁr_léj&n.s_g&}i «qu..uuﬁd.,y;.c
wiuuug,ﬂau,@sr@).D
ol L_...J1jé.mﬁr:.w)4.at.hm).ﬁ.E

Choose the correct answer from the options given below:

(1) BandConly
(2) AandD only
(3) CandE only
(4) DandE only

Question Number : 106 Question Id : 3421231340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9% 8 doliald
ol 150 Cnat 4alals latl slass A
ol O g5 w35 508 515 B
.‘:ﬁr_léj&n.s_g&}i «qu..uuﬁd.,y;.c
wiuuug,ﬂau,@sr@).D
ol L_...J1jé.mﬁr:.w)4.at.hm).ﬁ.E

Choose the correct answer from the options given below:

(1) BandConly
(2) AandD only
(3) CandE only
(4) DandE only

Question Number : 107 Question Id : 3421231341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ol ol 4l 2> 9 Fo J6
5.9 Olsle Ol 31LA
s o2l JIE Oy Lin S B
ol 0L g 55 DS eyl .C
Sl L9 m0 dole o 51 Oy o5 6. D

Sl Ol 4l ;:,;lzL..JiJL':[_;!j@_‘;.E

Choose the correct answer from the options given below:

(1) DandE only
(2) AandBonly
(3) CandD only
(4) Eonly

Question Number : 107 Question Id : 3421231341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ol ol 4l 2> 9 Fo J6
5.9 Olsle Ol 31LA
s o2l JIE Oy Lin S B
ol 0L g 55 DS eyl .C
Sl L9 m0 dole o 51 Oy o5 6. D

Sl Ol 4l ;:,;lzL..JiJL':[_;!j@_‘;.E

Choose the correct answer from the options given below:

(1) DandE only
(2) AandBonly
(3) CandD only
(4) Eonly

Question Number : 108 Question Id : 3421231342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o oo Jlous gl
35l St (nF D Bl s Gy A
35t e Sl Cpemall 22ST.B
Sl OB Hle 528 5 Lok o S LY Sl . C
25 S bS5 plll el dy e ol D
Gl Ol 3 ol oKl T .E

Choose the correct answer from the options given below:

(1
(2
(3
(4

) BandDonly
) EandA only
) DandE only
) AandConly

Question Number : 108 Question Id : 3421231342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o oo Jlous gl
35l St (nF D Bl s Gy A
35t e Sl Cpemall 22ST.B
Sl OB Hle 528 5 Lok o S LY Sl . C
25 S bS5 plll el dy e ol D
Gl Ol 3 ol oKl T .E

Choose the correct answer from the options given below:

(1
(2
(3
(4

) BandDonly
) EandA only
) DandE only
) AandConly

Question Number : 109 Question Id : 3421231343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 93wyl ﬁ;lﬁ‘;lﬂ
ol FUI 26 Sy 5 ol e A
@16-1:;1@;_‘3,#@15(’5).8
35 5 o leled A g )b sk 5. C
55 Smeals Db s g el oyl el D
Sl (206 S me Sl el B

Choose the correct answer from the options given below:

(1) Donly

(2) BandDonly
(3) AandE only
(4) BandConly

Question Number : 109 Question Id : 3421231343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 93wl S b ST
ol FUI 26 Sy 5 ol e A
ool g Sl o 3 J;ﬂmU(‘jJ.B
35 5 o leled A g )b sk 5. C
55 Smeals Db s g el oyl el D
Sl (P )b Dy pme Sl o el o B
Choose the correct answer from the options given below:

D only

)

) BandDonly
) AandE only
)

B and C only

Question Number : 110 Question Id : 3421231344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P N LYY
ol o365 5755 S a5 A
S 0 S5 5157 5 0le &1 3= .B
Sl 29 20 Oboy Slgmals Slal .C
Sl 0,555 dw bty 5 ool Kb 55T e p3le.D
355 ot P o) 8 S s SN U LB
Choose the correct answer from the options given below:

(1) DandE only
(2) AandBonly
(3) BandConly
(4) CandD only

Question Number : 110 Question Id : 3421231344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P N LYY
ol o365 5755 S a5 A
S 0 S5 5157 5 0le &1 3= .B
Sl 29 20 Oboy Slgmals Slal .C
Sl 0,555 dw bty 5 ool Kb 55T e p3le.D
355 ot P o) 8 S s SN U LB
Choose the correct answer from the options given below:

(1) DandE only
(2) AandBonly
(3) BandConly
(4) CandD only

Question Number : 111 Question Id : 3421231345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



19 > gl
ol Gy e din (b b plia A
55 od ol aidl oS s B
35 oWsl oplll ol 4l oy 0. C
Sl O gl gl b D
spahy Jas iy s B
Choose the correct answer from the options given below:

(1) AandConly
(2) BandEonly
(3) AandD only
(4) CandD only

Question Number : 111 Question Id : 3421231345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



19 > gl
ol Gy e din (b b plia A
55 od ol aidl oS s B
35 oWsl oplll ol 4l oy 0. C
Sl O gl gl b D
spahy Jas iy s B
Choose the correct answer from the options given below:

(1) AandConly
(2) BandEonly
(3) AandD only
(4) CandD only

Question Number : 112 Question Id : 3421231346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



: Jaddl g
.\xt’.f)l.:.&'c:jﬁ.A
Sy fuj}ﬁc‘)U;M}B
33 SV 555.C

Sy shj)'»d.ﬂ!rum ..-\.l_,aD
351 Sb ols Usle gal il (ol a2l oS . E

Choose the correct answer from the options given below:

(1) CandD only
(2) EandAonly
(3) CandE only
(4) A, BandConly

Question Number : 112 Question Id : 3421231346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



: Jaddl g
.\xt’.f)l.:.&'c:jﬁ.A
Sy fuj}ﬁc‘)U;M}B
33 SV 555.C

Sy sgjid.dlrlb "'L.’,_)"D
351 Sb ols Usle gal il (ol a2l oS . E

Choose the correct answer from the options given below:

(1) CandD only
(2) EandAonly
(3) CandE only
(4) A, BandConly

Question Number : 113 Question Id : 3421231347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Suhgue Ll
39 OMes 5w 5. A
35 Fzasle s das B
35 Sshe oo Lo, dams 555.C
33 () Lo, Ll s Ol (g il 5. D
3 c_!_gj..u{lL@.n_'}T sh gl assbazs .E

Choose the correct answer from the options given below:

(1) AandE only
(2) BandDonly
(3) CandAonly
(4) BandEonly

Question Number : 113 Question Id : 3421231347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Suhgue Ll
39 OMes 5w 5. A
35 Fzasle s das B
35 Sshe oo Lo, dams 555.C
33 () Lo, Ll s Ol (g il 5. D
3 c_!_gj..u{lL@.n_'}T sh gl assbazs .E

Choose the correct answer from the options given below:

(1) AandE only
(2) BandDonly
(3) CandAonly
(4) BandEonly

Question Number : 114 Question Id : 3421231348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sehr 9 ,0l8
Sl (6] e (b 835 (g3lazl las . A
Sl &G g B3l ol S 3lzuls LB
39 8 o DS plikin 5.C
Gl adl o OUS ol 6 9050, D
ol azd g SLJT 0L 55 b s dllas 0T .E
Choose the correct answer from the options given below:

(1) DandE only

(3
(4

)
(2) BandDonly
) Bonly

)

Aand C only

Question Number : 114 Question Id : 3421231348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sehr 9 ,0l8
Sl (6] e (b 835 (g3lazl las . A
Sl &G g B3l ol S 3lzuls LB
39 8 o DS plikin 5.C
Gl adl o OUS ol 6 9050, D
ol azd g SLJT 0L 55 b s dllas 0T .E
Choose the correct answer from the options given below:

(1) DandE only

(3
(4

)
(2) BandDonly
) Bonly

)

Aand C only

Question Number : 115 Question Id : 3421231349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



O ol ol ksl
Sl 0 1979 01 1 oDl DN (555 Jlo . A
ol N ol ol g 5lgs ols Lo, . B
Sl siras ) s T OB ) 518 Oy el .C
>3 S8 b OBl oyl 7,00
391 0h (Somtn (5 ghy ols Loy S S OB ) 5 g B

Choose the correct answer from the options given below:

(1) AandConly
(2) DandE only
(3) BandEonly
(4) AandD only

Question Number : 115 Question Id : 3421231349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



O ol ol ksl
Sl 0 1979 01 1 oDl DN (555 Jlo . A
ol N ol ol g 5lgs ols Lo, . B
Sl siras ) s T OB ) 518 Oy el .C
>3 S8 b OBl oyl 7,00
391 0h (Somtn (5 ghy ols Loy S S OB ) 5 g B

Choose the correct answer from the options given below:

(1) AandConly
(2) DandE only
(3) BandEonly
(4) AandD only

Question Number : 116 Question Id : 3421231350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



01938
Sl g2 0L 4 by 0 A
ol vl 0L a0 b g 0. B
Sl O 1 Okl 9L 5. C
Sl Sslgg 0L by 0.D
59 Sk sy 0L 0Nl iy, .E

Choose the correct answer from the options given below:

(1) AandBonly
(2) DandE only
(3) BandConly
(4) AandConly

Question Number : 116 Question Id : 3421231350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



01938
Sl g2 0L 4 by 0 A
ol vl 0L a0 b g 0. B
Sl O 1 Okl 9L 5. C
Sl Sslgg 0L by 0.D
59 Sk sy 0L 0Nl iy, .E

Choose the correct answer from the options given below:

(1) AandBonly
(2) DandE only
(3) BandConly
(4) AandConly

Question Number : 117 Question Id : 3421231351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s “53!4.9.;»3.3‘
3555 Ol 4 o gen & 5 3 A
35 6081 e ) Al )l ST B
355 s S b S er (25 05 L C
G gl DLl 5l aiisdl 4. D
Y . YT 1 N, -

Choose the correct answer from the options given below:

(1) AandE only
(2) BandConly
(3) CandD only
(4) BandDonly

Question Number : 117 Question Id : 3421231351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s “53!4.9.;»3.3‘
3555 Ol 4 o gen & 5 3 A
35 6081 e ) Al )l ST B
355 s S b S er (25 05 L C
G gl DLl 5l aiisdl 4. D
Y . YT 1 N, -

Choose the correct answer from the options given below:

(1) AandE only
(2) BandConly
(3) CandD only
(4) BandDonly

Question Number : 118 Question Id : 3421231352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oY ol

Sl 0k azd 5 Sl sale (gl ey 53 A
Sl M 95 5 fozin B

Gl aalials 4n 5.C

Sl (sl Lol ¢ 35 40.D

C__..»!;&;;W;Qlﬂjjjouuﬁqufd}l.dq-.E

Choose the correct answer from the options given below:

(1) AandConly
(2) CandD only
(3) BandEonly
(4) AandD only

Question Number : 118 Question Id : 3421231352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oY ol

Sl 0k azd 5 Sl sale (gl ey 53 A
Sl M 95 5 fozin B

Gl aalials 4n 5.C

Sl (sl Lol ¢ 35 40.D

C__..»!;&;;W;Qlﬂjjjouuﬁqufd}l.dq-.E

Choose the correct answer from the options given below:

(1) AandConly
(2) CandD only
(3) BandEonly
(4) AandD only

Question Number : 119 Question Id : 3421231353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



tJow soWlous

355 (oo ookt iy S L5 A
Eil é1,>pTrﬁgﬁ;,;j|aL§a1JT.B
ol Good €S (5o 0 g 5 Ol 31 G .C
5,5 pskaia ) lgaily 5 e 55200
Il Soly en Jos g5 51 .E
Choose the correct answer from the options given below:

(1) AandConly
(2) BandDonly
(3) DandE only
(4) EandBonly

Question Number : 119 Question Id : 3421231353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



tJow soWlous

355 (oo ookt iy S L5 A
Eil é1,>pTrﬁgﬁ;,;j|aL§a1JT.B
ol Good €S (5o 0 g 5 Ol 31 G .C
5,5 pskaia ) lgaily 5 e 55200
Il Soly en Jos g5 51 .E
Choose the correct answer from the options given below:

(1) AandConly
(2) BandDonly
(3) DandE only
(4) EandBonly

Question Number : 120 Question Id : 3421231354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P LR Y
WJIJLAJL@’JHG;A{_;}:;..A
55 o S5 Sl el Chas Olaj 43 .B
Cotl o ghiie p g3 ol ol Ola el 1) sl 3L . C
35w 50 by ol xadl ¢Sl D
S St Soseb 05y E
Choose the correct answer from the options given below:

(1
(2
(3
(4

) AandBonly
) CandE only
) BandDonly
) AandD only

Question Number : 120 Question Id : 3421231354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P LR Y
WJIJLAJL@’JHG;A{_;}:;..A
55 o S5 Sl el Chas Olaj 43 .B
Cotl o ghiie p g3 ol ol Ola el 1) sl 3L . C
35w 50 by ol xadl ¢Sl D
S St Soseb 05y E
Choose the correct answer from the options given below:

(1
(2
(3
(4

) AandBonly
) CandE only
) BandDonly
) AandD only

Question Number : 121 Question Id : 3421231355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(Sgle s

35 01l polae 8 5 ols A

39 ol B 3l3T 08 e 55 51.B

St o AR 5 s aalin .C

S gl o5 87 (slgilimls ds gazee Olax.D
;;_,.,14,:.:‘,:31)5.015&)@3.E

Choose the correct answer from the options given below:

) BandDonly
) AandConly
) AandE only
) CandE only

Question Number : 121 Question Id : 3421231355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(Sgle s

35 01l polae 8 5 ols A

39 ol B 3l3T 08 e 55 51.B

St o AR 5 s aalin .C

S gl o5 87 (slgilimls ds gazee Olax.D
;;_,.,14,:.:‘,:31)5.015&)@3.E

Choose the correct answer from the options given below:

) BandDonly
) AandConly
) AandE only
) CandE only

Question Number : 122 Question Id : 3421231356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



&

:LSS‘“'O

Conl G auly b aw ol (6583 sima A

Ll osls pl am 5550 1, Ssin e 0l £la B

355 oo 4l B pl s B e BT s .C

Sl OLSS J 3 5 g0 oL D

345 oo odomiw cwle> cls doglaie 039w (I r_,J;L..JiJ:'G'f'E

Choose the correct answer from the options given below:

(1) AandConly
(2) CandD only
(3) BandEonly
(4) DandE only

Question Number : 122 Question Id : 3421231356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



&

:LSS‘“'O

Conl G auly b aw ol (6583 sima A

Ll osls pl am 5550 1, Ssin e 0l £la B

355 oo 4l B pl s B e BT s .C

Sl OLSS J 3 5 g0 oL D

345 oo odomiw cwle> cls doglaie 039w (I r_,J;L..JiJ:'G'f'E

Choose the correct answer from the options given below:

(1) AandConly
(2) CandD only
(3) BandEonly
(4) DandE only

Question Number : 123 Question Id : 3421231357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S D

ol (g g i gl 51 S LA

Sl (g5le 95 2 a8l 5054 51.C

L3 S izl r.ri o3 o€ uy 5.0
V=

35 e i WKL iy L B

Choose the correct answer from the options given below:

(1) BandDonly
(2) DandE only
(3) EandBonly
(4) AandConly

Question Number : 123 Question Id : 3421231357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S D

ol (g g i gl 51 S LA

Sl (g5le 95 2 a8l 5054 51.C

L3 S izl r.ri o3 o€ uy 5.0
V=

35 e i WKL iy L B

Choose the correct answer from the options given below:

(1) BandDonly
(2) DandE only
(3) EandBonly
(4) AandConly

Question Number : 124 Question Id : 3421231358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



| Wi Y]]
ol 358 opl Sl Olal A
oy ST S a3 85 980, B
ol g3l 3l 5058 55 5 02K .C
3905 o 35l 1y 534S opl (g5l et B8l D
Conl 528" opl ola s i fds skl E
Choose the correct answer from the options given below:

(1) AandBonly
(2) CandEonly
(3) BandDonly
(4) CandD only

Question Number : 124 Question Id : 3421231358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



| Wi Y]]
ol 358 opl Sl Olal A
oy ST S a3 85 980, B
ol g3l 3l 5058 55 5 02K .C
3905 o 35l 1y 534S opl (g5l et B8l D
Conl 528" opl ola s i fds skl E
Choose the correct answer from the options given below:

(1) AandBonly
(2) CandEonly
(3) BandDonly
(4) CandD only

Question Number : 125 Question Id : 3421231359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(Selde ke
\:.—.:\4}.1 LF‘H)BJ;«:’})FJJJG"@;}:'“'B

o gl Jlo 153 &SN da glite .C
Cotln 0 oyl gl i g S35 en. D
Jﬁhgalq-%w.E

Choose the correct answer from the options given below:

(1) CandD only
(2) AandBonly
(3) DandE only
(4) CandE only

Question Number : 125 Question Id : 3421231359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(Selde ke
\:.—.:\4}.1 LF‘H)BJ;«:’})FJJJG"@;}:'“'B

o gl Jlo 153 &SN da glite .C
Cotln 0 oyl gl i g S35 en. D
Jﬁhgalq-%w.E

Choose the correct answer from the options given below:

(1) CandD only
(2) AandBonly
(3) DandE only
(4) CandE only

Question Number : 126 Question Id : 3421231360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il
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A. S Sy Syia| | O gdes odas (ol o
B. gl adyd- | )| Ot e (oS oo

. > r-wu’

) e Pl

D. 93 p aslals

Jj?wwwdﬂ_)ﬁ

Choose the correct answer from the options given below:

(1) A-IV, B-l, C-Il, D-Ill

)

(2) A, B-Il, C-IlI, D-IV

(3) A-IV, B-Ill, C-Il, D-I
)

(4) A-l, B-IV, C-llI, D-lI

Question Number : 126 Question Id : 3421231360 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. S Sy Syia| | O gdes odas (ol o
B. gl adyd- | )| Ot e (oS oo

. > r-wu’

) e Pl

D. 93 p aslals

Jj?wwwdﬂ_)ﬁ

Choose the correct answer from the options given below:

(1) A-IV, B-l, C-Il, D-Ill

)

(2) A, B-Il, C-IlI, D-IV

(3) A-IV, B-Ill, C-Il, D-I
)

(4) A-l, B-IV, C-llI, D-lI

Question Number : 127 Question Id : 3421231361 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LISTI LIST II
A. Olebw e 3 gramn | |, ST
B. s ol L S
E e, S Jbw
D. JBl| v, oY

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-lI, B-lII, C-1V, D-|

(3) A-IV, B-lI, C-I, D-IIl
)

(4) A-l, B-IlI, C-ll, D-IV

Question Number : 127 Question Id : 3421231361 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LISTI LIST II
A. Olebw e 3 gramn | |, ST
B. s ol L S
E e, S Jbw
D. JBl| v, oY

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-lI, B-lII, C-1V, D-|

(3) A-IV, B-lI, C-I, D-IIl
)

(4) A-l, B-IlI, C-ll, D-IV

Question Number : 128 Question Id : 3421231362 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il

A. B, S s
B. el oo
c SLI e, =L
D. 32| V. 4 p

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-ll, B-IlI, C-1V, D-I

(3) A-IV, B-lll, C-Il, D-I
)

(4) A-Ill, B-I, C-IV, D-II

Question Number : 128 Question Id : 3421231362 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il

A. B, S s
B. el oo
c SLI e, =L
D. 32| V. 4 p

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-ll, B-IlI, C-1V, D-I

(3) A-IV, B-lll, C-Il, D-I
)

(4) A-Ill, B-I, C-IV, D-II

Question Number : 129 Question Id : 3421231363 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. S| L. JoT
B. i LS o
o Sedar | ], 25
D. e \'2 St

Choose the correct answer from the options given below:

(1
(2

) A-ll, B-l, C-IV, D-Ill

) A-lll, B-IV, C-I, D-Il
(3) A-l, B-IV, C-lI, D-Il

)

(4) A-lVv, B-ll, C-lll, D-I

Question Number : 129 Question Id : 3421231363 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. S| L. JoT
B. i LS o
o Sedar | ], 25
D. e \'2 St

Choose the correct answer from the options given below:

(1
(2

) A-ll, B-l, C-IV, D-Ill

) A-lll, B-IV, C-I, D-Il
(3) A-l, B-IV, C-lI, D-Il

)

(4) A-lVv, B-ll, C-lll, D-I

Question Number : 130 Question Id : 3421231364 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST I LIST Il
A. S| |, i S
B. e el Loyl ). Ol sl s c.:L,:;i@;l:
C Lo il =3 1. s Lol
D Sl v, Ol ! .;:L_.::.If'f_)l:

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-IV, B-lll, C-Il, D-|

(3) A-lI, B-I, C-IV, D-lil
) A-lll, B-IV, C-ll, D-I

(4

Question Number : 130 Question Id : 3421231364 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST I LIST Il
A. S| |, i S
B. e el Loyl ). Ol sl s c.:L,:;i@;l:
C Lo il =3 1. s Lol
D Sl v, Ol ! .;:L_.::.If'f_)l:

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-llI, D-IV

)

(2) A-IV, B-lll, C-Il, D-|

(3) A-lI, B-I, C-IV, D-lil
) A-lll, B-IV, C-ll, D-I

(4

Question Number : 131 Question Id : 3421231365 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST I LIST I

A. ol dale gl |, (s
B. S, bl b
o S| 11| e ¢
D. Olgzals| |y, St F Soseb

Choose the correct answer from the options given below:

(1) A-IV, B-ll, C-lll, D-I
(2) A-Ill, B-1V, C-I, D-Ii
(3) A-Il, B-IlI, C-IV, D-I
(4) A-IV, B-l, C-II, D-Ill

Question Number : 131 Question Id : 3421231365 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST I LIST I

A. ol dale gl |, (s
B. S, bl b
o S| 11| e ¢
D. Olgzals| |y, St F Soseb

Choose the correct answer from the options given below:

(1) A-IV, B-ll, C-lll, D-I
(2) A-Ill, B-1V, C-I, D-Ii
(3) A-Il, B-IlI, C-IV, D-I
(4) A-IV, B-l, C-II, D-Ill

Question Number : 132 Question Id : 3421231366 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il

A. AN WO 7| S JI5F
B. el S5 F Sl
C R PHRE T S Pl
D. Y ey, 9 !

Choose the correct answer from the options given below:

(1) A-Ill, B-I, C-Il, D-IV
(2) A-IV, B-ll, C-I, D-Ill
(3) A-Il, B-IlI, C-IV, D-I
(4) A-l, B-IV, C-lII, D-II

Question Number : 132 Question Id : 3421231366 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il

A. AN WO 7| S JI5F
B. el S5 F Sl
C R PHRE T S Pl
D. Y ey, 9 !

Choose the correct answer from the options given below:

(1) A-Ill, B-I, C-Il, D-IV
(2) A-IV, B-ll, C-I, D-Ill
(3) A-Il, B-IlI, C-IV, D-I
(4) A-l, B-IV, C-lII, D-II

Question Number : 133 Question Id : 3421231367 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. Jadllgl oy, 3
B. AW Sy || e e 3 g
C. Ste SLsSal ), NFAS
D. Kal | . il gl

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-lll, D-IV
(2) A-Il, B-IlI, C-IV, D-I
(3) A-Ill, B-IV, C-I, D-Il
(4) A-IV, B-I, C-II, D-Ill

Question Number : 133 Question Id : 3421231367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il
A. Jadllgl oy, 3
B. AW Sy || e e 3 g
C. Ste SLsSal ), NFAS
D. Kal | . il gl

Choose the correct answer from the options given below:

(1) A-l, B-ll, C-lll, D-IV
(2) A-Il, B-IlI, C-IV, D-I
(3) A-Ill, B-IV, C-I, D-Il
(4) A-IV, B-I, C-II, D-Ill

Question Number : 134 Question Id : 3421231368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il
A. ol A || L= et
B. &S, B3l dases
C. hmals Sk ), 150 plo
B B R "2 oM L 28

Choose the correct answer from the options given below:

(1) A-IV, B-II, C-lll, D-|
(2) A-lll, B-l, C-Il, D-IV
(3) A-ll, B-lll, C-1V, D-|
(4) A-l, B-II, C-lIl, D-IV

Question Number : 134 Question Id : 3421231368 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. ol A || L= et
B. &S, B3l dases
C. hmals Sk ), 150 plo
B B R "2 oM L 28

Choose the correct answer from the options given below:

(1) A-IV, B-II, C-lll, D-|
(2) A-lll, B-l, C-Il, D-IV
(3) A-ll, B-lll, C-1V, D-|
(4) A-l, B-II, C-lIl, D-IV

Question Number : 135 Question Id : 3421231369 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
Al ok Gl lSaT] | N fab
B. Oleas| 1. S S e
¢ S, Sls el
D. EHE ol .| e e e

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-Ill, B-l, C-IV, D-Ii
(3) A-IV, B-lll, C-Il, D-I
(4) A-l, B-II, C-lll, D-IV

Question Number : 135 Question Id : 3421231369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il
Al ok Gl lSaT] | N fab
B. Oleas| 1. S S e
¢ S, Sls el
D. EHE ol .| e e e

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-Ill, B-l, C-IV, D-Ii
(3) A-IV, B-lll, C-Il, D-I
(4) A-l, B-II, C-lll, D-IV

Question Number : 136 Question Id : 3421231370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST II
A. S s ||, 15 e 3 gaee
B. s i ), 58 5
o Gla Lk | ], o1 o
D. 3 ol Lk |/, 201 e

Choose the correct answer from the options given below:

(1) A-ll, B-llI, C-IV, D-I

)

(2) A-l, B-ll, C-llI, D-IV
(3) A-lv, B-lll, C-ll, D-
(4) A-lV, B-l, C-ll, D-lI

Question Number : 136 Question Id : 3421231370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST II
A. S s ||, 15 e 3 gaee
B. s i ), 58 5
o Gla Lk | ], o1 o
D. 3 ol Lk |/, 201 e

Choose the correct answer from the options given below:

(1
(2

) A-ll, B-lIl, C-IV, DI
)

(3) A-IV, B-llI, C-II, DI
)

A-l, B-ll, C-llIl, D-IV
(4) A-lV, B-l, C-ll, D-lI

Question Number : 137 Question Id : 3421231371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il

A. R|ES5 Y LT sale
B. eS| ), LSl
C OS5 1. Ll
D. okwdl 3|y, adg>

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-IlI, B-II, C-I, D-IV
(3) A-IV, B-lll, C-Il, D-I
(4) A-l, B-I, C-lll, D-IV

Question Number : 137 Question Id : 3421231371 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il

A. R|ES5 Y LT sale
B. eS| ), LSl
C OS5 1. Ll
D. okwdl 3|y, adg>

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-IlI, B-II, C-I, D-IV
(3) A-IV, B-lll, C-Il, D-I
(4) A-l, B-I, C-lll, D-IV

Question Number : 138 Question Id : 3421231372 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST Il
A. SWIST 3y ]
B. Sl LIl | e oo ol p il o0 8
c. Ll Jast ), PR
D. ol |y S e e

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-l, B-Il, C-lll, D-IV
(3) A-ll, B-IIl, C-IV, D-I
(4) A-Ill, B-1V, C-I, D-Il

Question Number : 138 Question Id : 3421231372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il
A. SWIST 3y ]
B. Sl LIl | e oo ol p il o0 8
c. Ll Jast ), PR
D. ol |y S e e

Choose the correct answer from the options given below:

(1) A-ll, B-IV, C-I, D-Ill
(2) A-l, B-Il, C-lll, D-IV
(3) A-ll, B-IIl, C-IV, D-I
(4) A-Ill, B-1V, C-I, D-Il

Question Number : 139 Question Id : 3421231373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST I
@;,wwwx«jwau Lg-bhﬂ@;-
A. l.
G 5 by E S En
B. uxudgtxéﬁ,mT Il. e B dems |y
o LK uS sbaet o5T x| 1. pLs jas
D. sl o pdn Sy, e 2!

Choose the correct answer from the options given below:

(1

(3
(4

A-ll, B-lll, C-l, D-IV

)

(2) A-l, B-Il, C-lll, D-IV
) A-lll, B-II, C-IV, D-I
)

A-ll, B-1V, C-I, D-lII

Question Number : 139 Question Id : 3421231373 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST I
@;,wwwx«jwau Lg-bhﬂ@;-
A. l.
G 5 by E S En
B. uxudgtxéﬁ,mT Il. e B dems |y
o LK uS sbaet o5T x| 1. pLs jas
D. sl o pdn Sy, e 2!

Choose the correct answer from the options given below:

(1

(3
(4

A-ll, B-lll, C-l, D-IV

)

(2) A-l, B-Il, C-lll, D-IV
) A-lll, B-II, C-IV, D-I
)

A-ll, B-1V, C-I, D-lII

Question Number : 140 Question Id : 3421231374 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0




Match list | with List Il

LIST | LIST II

A. srStolibl ol e
B. S I [ 055 plo
C. 4l Olgmals| ), St e oM
D. SWIzb| gy, Aol ol p

Choose the correct answer from the options given below:

(1) A-lll, B-1V, C-Il, D-l
(2) A-ll, B-lI, C-IV, D-l
(3) A-l, B-ll, C-lll, D-IV
(4) A-lv, B-lll, C-II, D-l

Question Number : 140 Question Id : 3421231374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LIST | LIST Il

A. sSTokbl B e
B. oAt |, 055 plo
G 4l Olgmaal | iy, bbb e e2E
D. SWIZ6| vy, Lol ol o

Choose the correct answer from the options given below:

(1) A-lll, B-1V, C-Il, D-l
(2) A-ll, B-lI, C-IV, D-l
(3) A-l, B-ll, C-lll, D-IV
(4) A-lv, B-lll, C-II, D-l

Sub-Section Number : 2
Sub-Section Id : 34212353
Question Shuffling Allowed : No

Question Id : 3421231375 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



4 58 domio (YU 3 i S5n (58 05 5 Sopd o gy Sl g 815 g gad @l Ol oo 1) STt 5 5 L
S (sla ar s 30 Jro OB Ol VU Ol PV &ty 058 & I sl S (SIS 15T 487 5 03kidS 011 ¢
Jlas 5 0L S 5 05054 Lor i 435 plen a iy 5 S o s Olom W 93 51y 228 595 45,515 (sl e3,
S s gy iy 5 Sl sS NS 5 505 0ol la Sl Lo gas o plo sz 351 5505 aen 51 K5 o S o les OLs
Ciu o (Jg iy d S 1y O g 655 g dias (o0 o150 40kr 5555 (cad 5L OLE anS Ay 0 Sgas -l 5 OL
9l syl u,Jt”(.Sd‘a,pgxaxuf,mgmﬁ;;gm;tsgb rﬁ;}ﬂa%;ﬁom&emo;yﬁ
A 035 5 Jlam JTJ,;@}JWLAQL«L;LA Ol 1 4S5 a g L5 S Oleyas 0L oS teolo olor gos S 5
23 4SSl g o g Slale 531y B OT & s 8 1y gl 0,205 i glasl b 5ol 5 a5 3 Oolall
Cino oS g OL,S 1 (a3 4l g 5 027 (oS DLW o) &K 5115 0o dns Jgmale 4 43 57 3 90 0.0
o 3 Gy e MNP N Lding Sa s ST N 0 ST gl I 95 gt 5 S G s
Qk)ﬁr:«dﬂﬁ}@? Gy le &S gl 55 3 8L I Blader Slghow 5 s 5 posl Gla S50 LS
Olep Lol 03,5 5 o 4ol oo 31 Lo 5 S Oliair 4Sien 9 L3 § 5l 35 4T dsle Lo blas 53 555 03,57
w55l 415 OLs o dm s L3l OG5 5w ol (glam b 5 50345 (51 4 diBlonls QLo Cos w1y o
5038 Il Bl w93 oSl O s emd B 4 SG) e Vb o3 5 o8k 4 VL ST Ll 5 L

Cdzwn Syl s LT )jlao;»g,.éf ol

Sub questions

Question Number : 141 Question Id : 3421231376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9351 03k Ol ST @ a4t (6 Ko 055 9 ook 5> Jln iz 1 ey

S/ 05 5ok 3 gy il my (D)
ESr 05 56k Il in il - (2)
SRr 05 5ok e ia i (3)
SR 0 56 3 o G Sl oy (4)

Question Number : 142 Question Id : 3421231377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ty 225 4 S 51T

O o sl Jla 51T (D)
S sl S SIS 5T (2)
Ol dele s 51T (3)

o3 o855 5 (sla Jle 15T (4)

Question Number : 143 Question Id : 3421231378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

35 0l gy oS 55 anr Olnls (557 0 Ole g
S s (1)

(Sekas oS (2)

‘_"K:Jsg.gle% (3)

SFS (4)

Question Number : 144 Question Id : 3421231379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$3505 124 S uly plee JHlslgls S

Lg 038 2 p 4y Qo ssele sy flae Sl slelar S (D)
Wog s S 5 p o s ples Sl Sl S (2)

Loy 038 o e sty les S5l slelr S (3)

L5038 2l s pls S5l sl 57 (4)

Question Number : 145 Question Id : 3421231380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ShLs S ol S o il blie s

L35 ol o SH pysele o ples blisys (1)
L3 8 ol asy e posele opples blis ys (2)
uuulﬁ:;jéla-&ﬂjalf.\}}djybaﬁw&@J: (3)

L%;;Fbjlﬁo@;bd)yb a}wh}i@)a (4)

Question Id : 3421231375 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

4 S domin (VU 53 oty 558 6 8 055 5 o> Il gy 5l g 1S (a5 o0l Ol i 1) ST 5 5 L
S gl ax s 90 Jo 0L 0l pVL Ol pY) oSty (o558 4 S5 sleler 5T SUS 5157 o7 5 03k O 1 ¢
Jlo 5 Ol S5 050k Lo S a5 plos p 2u) 5 Lks o ple Ol (VL 5 815 2287 55 0,815 sl o3,
S L oty 5 SLel S NS 5 515 03U sla ) SalS T goe s pla O g 31 505 4mn 5105 o IS o pls OLs
Ciuy o 5 ki ol (S 15 0L 5y K55 5 s on J5158 400 5353 a3 5L OLS 4S Ay o8 Sy doly 5 L
3 il gl g o 5o 3 grodkile o 0SS Oles 51 a5 dly o3 (oS 5 ks Jloee co3 0
A 033k sl ol 936150 4l Ol o Sl 51 4SS a5 3,5 0l s 0L b wolon 5038 55
s 4 LKy pote 5 Sle e gty 5w OT &8 4 8 Lyl o it3 it slasl b 3l 5 por 5 i Ol
o 8 g OS5l poad 5 4l 4 5 @S oM DLW ol Ko 5115 Ol by S pale 4 4 45 03 50 0L
S G E B A by Sy ST &S 0 ST pysale Sl 53 i 5 S 30 -
QEJJT:«JL;“J?JU? G Aile &7 (gl by 53 oS 5l et Glehows 5 s 5 305l S1a oy s LS
Ole b Lols 03555 5 o aSl Jie sl e 3 S Oliaiir S 5 L3 5 ol (33 4T Asle bo Jlie 55 550357
w5 55 3 1) OLa o s 5 Lisls OIS 58 9w obiliin (slam ol 9 d g3 (5l 4K dxBlosls OLs S w1y
5035 Il edzdly w53 (ol ol Ol sl omd 58 4 &Sl e YU 5L 51 3L 4 VL3I Ll 5 5 )\

(Sedn Sl BT peleed EE S

Sub questions

Question Number : 141 Question Id : 3421231376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



€3y 03l Ol S5 4 rader 558 6 8 055 5 6o 53 Il iz I ey

S/ 05 5ok 3 g 3l m (D)
S 05 56 s dl sl u (2)
S5 08 36 ppdlecia jlm (3)
SR 05 5 6ok I s 5l (4)

Question Number : 142 Question Id : 3421231377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sy 2 8 4 S 51T
O, sl Jls 51T (D)
Sl sl 5 SIS 5T (2)
Ol dele o3 515T (3)

o3 087555 sla b 55T (4)

Question Number : 143 Question Id : 3421231378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

§35 0l gy oIS 55 anr Olauls (5557 0 Ole g

S5 s (D)
s S (2)
Sp N (3)
SFN (4)

Question Number : 144 Question Id : 3421231379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



2035 PAS il fle JFlglel S

L3y 035 o5 Jeosle yu b il slelsr S (D)
Lg 038 B s s ples JHl il S (2)

Ly 03,S (o pla sty e S5l slgl S (3)

Lsg o3 S 5 p ol gty pls S5l Glgla S (4)

Question Number : 145 Question Id : 3421231380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S 5 ol S op plas blis s

L3 8 ol oS0 o gale o il Jlis 53 (1)

L3 8 ol a5y e pysele opples blis s (2)
uuugafj.éb-wﬂjalf;}_}djyba}w&‘.ﬁb): (3)

LQJﬁﬂbj\ﬁo@lebe O.LJ:’LMJJ_L:L@JQ (4)

Sub-Section Number : 3
Sub-Section Id : 34212354
Question Shuffling Allowed : No

Question Id : 3421231381 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421231382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421231383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421231384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421231385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421231386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421231381 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question
Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421231382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421231383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421231384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421231385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421231386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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